O.-.'mj}.' ‘;-\-ul,j 3 2/1 Q‘ ..\ Al L

2012/2013 ‘}\9;8" 59 1 {éJ CH9AA (a8
s Aty s 3 21 <l al 'S,

Qrwﬁﬁw\du:h\

CA Mae Y g sl o]
—18x(—33)x (~14) . -16x*  -36
 —12xT77x(-49) —24x ' -27
;‘U\;ds‘";z)my\ s =D

1,7 x(—4,8)x (-97)
- —8+7x (—11) x (_13)

-1 -7 11
LG = A=

_5 3 "5 1237123

) oy i)
AOB =60° ;r=3cm leelad 5 O la S 50552 (C) 5 Jike pifies (A)

(dJLQe.\SJ.MM(A)u\)SJJ)L_\LmLﬂM \J.\;\c.ad&d\‘suu\ 1

(A) psisall Lusilly (C) 5_slall Ailas (C) il -2

M B s A CNlaa M’ s B’ 5 A2 kil ; i -3

(A) (A) poisall Apuilly M il e

Lafina kil M 50O’ s A° badll ol e -4

(A) il iy O AUlilas O Cua

AB=4cm ol om -5

A’B’=4cm  :olom -6

BOM=120° :ofom -7

B’O’M’=120°: of o -8

(AM) &Y Jiay 13 € (AM) pfiasall Laasilly (C) 5000 Alilas ale -9

¢ (C) Jaally

Qrwﬁwﬁduﬁu\

10
t

-l slae Y1 J Al -]

~18x(—33)x(~14) . —16x> . -36

C _12x77x(-49) —2ax ' —21
s JS s laY) o 2D

17x(-48)x(-97) ((13) ;- (-35,7)

—-8+7x(-11) —(-54)
cAlls JS 483

-1 . -7 1 -4 5

I 1 - J— y - I

-5 3 -5 12,3 —123

S oy i)

AOB = 60° 1 =3cm Lkelxd OLQ)S)AD)J\J(C))JJLA?JSM(A)
(Jile pufiass (A) oS3 ) bl ol il g JSN (50 -]

(A) pivsall Apilly (C) 51l Alas (C) (il -2

M5B 5 A laa M5 B’ A’ bl il -3

) (A) piinsall dpnily 5 e

Lafice bty M 50O’ s A” bl o o -4

(A) pifiosall Luily O ilas 07

AB=4cm ol om -5

A’B’=4cm  olon -6

BOM=120° :ofcm -7

B’ O’M’=120°: of 0w -8

(AM) o2 Jiay 13e § (AM) asiiesall Lanailly (C) 5500 dllas ale -9
(C) Jamaly



http://yasnour.ift.fr/
http://yasnour.ift.fr/



